1. ®H

(1

(2

BRI T DR

e ]

) FEEIE OB A0 4 15
A (50 PEA SV C L

) HE R FEDOSFHLH

THE B O FHLEIBHA A ST UL TND,

FERRIEIC LD E R E R 2R L T 0D,

. IR E N OV B & PED BB N O D5 (HA7: 1)
‘ £t H (BN B Y T RN
KFE G PE
fi] 12 8 PE S ST A 4 1,510, 000 0| 1,510,000 0
B O S RSB PE 12, 985, 000 0 0 | 12,985,000
Tk M R 959, 636 0l 959,636 0
& &t 15, 454. 636 0] 2,469,636 | 12,985,000
L AR PE N OV E R PE D AR EE DN ER (HA7: 1)
(9 BIEEEK | (5 b—ixEk (9 BAEIZ
B H WA |MEssoRYE |MiErsodE) | shsd 5 %)
Fro & ‘
BB E S S fENLEPEl 12, 985, 000 0] 12, 985, 000 0
& &t 12, 985. 000 0] 12,985,000 0
. B PE D BUASAIAL /Bzfﬂii1ff£ﬂ+u+%ﬁ&0éﬂ;ﬁﬂ@§m (HELAT: 1Y)
! IS [ sdmEazares | 245 Lk
) 5, 808, 225 851,995 | 4, 956, 230
H i S A L 1, 340, 230 | 1,340, 229 1
A i ) 2,592,450 | 2,013, 179 579, 271
& &f 9,740,905 [ 4,205,403 | 5,535,502
. FHENAEE DN ERE QNI A3 24 B O HEJREE M OV 15 (A7 )
B &% D4 T setie AR X4 SV DAE | 2414 [ e [T
TR ‘
@ﬁ%‘%‘&'ﬁ%@%ﬁﬁﬁ%%ﬁ%’%ﬁ%é} 0l 5,039,000 5,039,000 0 -
T FH B %6 S04 B S A B4 0| 6,000,000 6,000,000 0 -
//»/\»—Mrz/%aﬁg%ﬁmﬁ%ﬁwﬁ il 0] 11,039,000 | 11,039,000 0 -
& = 0l 22.078.000 | 22.078.000 0 =
B B M &
R TE S PE DB A S 8 2R 16 ATERRICEEE L WA 2D AR L Tvd,




B &

==

5

T
e

o

1%



